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	Teacher Key with Answers

	Ques
	Answer
	Level
	Skill
	Subskill
	Item #

	1
	A  
	Moderate  
	LS: Heredity  
	SPI 0707.4.1 Sexual vs Asexual Reproduction [99119]
	U55923

	2
	B  
	Moderate  
	LS: Heredity  
	SPI 0707.4.2 Flowers and Reproduction [99120]
	U55918

	3
	D  
	Moderate  
	LS: Heredity  
	SPI 0707.4.3 Genes and Heredity [99121]
	U56141

	4
	C  
	Moderate  
	LS: Heredity  
	SPI 0707.4.4 Punnett Square [99122]
	U56315

	5
	C  
	Moderate  
	LS: Heredity  
	SPI 0707.4.1 Sexual vs Asexual Reproduction [99119]
	U56256

	6
	A  
	Moderate  
	LS: Heredity  
	SPI 0707.4.1 Sexual vs Asexual Reproduction [99119]
	U55921

	7
	D  
	Moderate  
	LS: Heredity  
	SPI 0707.4.3 Genes and Heredity [99121]
	U56266

	8
	B  
	Moderate  
	LS: Heredity  
	SPI 0707.4.3 Genes and Heredity [99121]
	D75803

	9
	D  
	Moderate  
	LS: Heredity  
	SPI 0707.4.3 Genes and Heredity [99121]
	D75793

	10
	D  
	Moderate  
	LS: Heredity  
	SPI 0707.4.1 Sexual vs Asexual Reproduction [99119]
	U56139

	11
	D  
	Moderate  
	LS: Heredity  
	SPI 0707.4.1 Sexual vs Asexual Reproduction [99119]
	D61792

	12
	C  
	Moderate  
	LS: Heredity  
	SPI 0707.4.2 Flowers and Reproduction [99120]
	U56033
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	Question 1 of 12

	Genetic diversity is important to the survival and adaptability of a species. Which type of reproduction increases the genetic diversity of the offspring? 
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	A.
	sexual 

	[image: image2.wmf]  
	B.
	asexual 
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	C.
	budding 
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	D.
	regeneration 
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	Which part of a flower produces egg cells? 
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	A.
	style 
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	B.
	ovule 
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	C.
	anther 
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	D.
	stigma 
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The picture shows an attached earlobe and an unattached earlobe. Having attached earlobes is a recessive trait. Which of the following most likely describes the parents of a person with attached earlobes? 
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	A.
	One parent has attached earlobes. 
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	B.
	Both parents have attached earlobes. 
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	C.
	One parent has a recessive gene for attached earlobes. 
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	D.
	Both parents have a recessive gene for attached earlobes. 

	 


	Question 4 of 12

	In some cases, the DNA in genes is damaged, causing changes to the structure of the DNA molecule. This can result in a ________ 
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	A.
	translation 
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	B.
	expression 

	[image: image16.wmf]  
	C.
	mutation 
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	D.
	transcription 

	 


	Question 5 of 12

	Which of these methods of reproducing is sexual? 
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	A.
	budding 
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	B.
	regeneration 
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	C.
	fertilization 
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	D.
	binary fission 

	 


	Question 6 of 12

	Which of the following names the reproductive process in which both an egg and sperm are required? 
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	A.
	sexual reproduction 
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	B.
	binary reproduction 
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	C.
	asexual reproduction 
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	D.
	vegetative reproduction 

	 


	Question 7 of 12

	In some rabbits, black coat color (B) is dominant over brown coat color (b). Using a Punnett Square, predict the results of the monohybrid cross BB × Bb for coat color. 
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	A.
	25% black, 75% brown 
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	B.
	50% black, 50% brown 
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	C.
	75% black, 25% brown 
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	D.
	100% black, 0% brown 

	 


	Question 8 of 12

	Certain species of bacteria have become resistant to antibiotics used to treat bacterial infections. Which of the following explains why these bacteria became resistant? 

	 
	 
	 
	 
	 

	[image: image30.wmf]  
	A.
	The bacteria did not like the taste of the antibiotic. 
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	B.
	Some of the bacteria had mutations that allowed them to survive exposure to antibiotics.
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	C.
	Most of the bacteria were negatively affected by the antibiotic and so they all died. 
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	D.
	The bacteria changed into viruses and viruses are not treated with antibiotics.

	 


	Question 9 of 12

	Gregor Mendel worked with inheritance patterns in pea plants. He is credited with which theory? 
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	A.
	The theory of relativity. 
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	B.
	The theory of natural selection. 
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	C.
	The theory of gravity. 
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	D.
	The theory of heredity. 

	 


	Question 10 of 12

	Which of the following is an advantage of sexual reproduction? 
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	A.
	the production of gametes through mitosis 
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	B.
	the production of genetically identical offspring 
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	C.
	the production of large numbers of offspring 
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	D.
	the production of genetically diverse offspring 

	 


	Question 11 of 12

	A major disadvantage of asexual reproduction is that organisms produced by it may
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	A.
	maintain desirable traits.
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	B.
	be more resistant to disease.
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	C.
	lose desirable traits.
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	D.
	be more susceptible to disease.

	 


	Question 12 of 12

	Which of the following is a female part of a flower? 
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	A.
	sepal 
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	B.
	petal 
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	C.
	pistil 
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	D.
	stamen 
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